



07/01/2023 10:00 AM | Delivery for Welcome Night 07/01/2023 01:00 PM | Install Ballroom 07/01/2023 11:00 PM | Strike Welcome Night 07/02/2023 09:00 AM | Install Cocktails & Final Details

07/02/2023 09:00 AM | Install Cocktails Final Details 07/02/2023 05:00 PM | Event 07/02/2023 10:00 PM | Strike Cocktails 07/03/2023 08:00 AM | Strike Ballroom PO: Shipping Address: Montage Laguna Beach A GOOD AFFAIR 1131 EAST MAIN STREET SUITE 200 TUSTIN, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total General		\$0.00
July 1st - Welco	me Night				
	Bali Counter Stool- Wood & Cane Back	40	\$30.00	Т	\$1,200.00
	Boston Curved Bar 8'L - Hunter Green	8	\$850.00	Т	\$6,800.00
		Total July 1s	1st - Welcome Night		\$8,000.00
July 2nd - Cockt	ails Lawn				
	Bali Round Stand Up Table - Wood Cane Back	10	\$275.00	Т	\$2,750.00
	Bali Counter Stool- Wood & Cane Back	19	\$30.00	Т	\$570.00
	Bali Bistro Table - Round Wood Cane Back	6	\$250.00	Т	\$1,500.00
Fig. 1	Dining Chairs - Bali Wood & Cane Back	8	\$25.00	Т	\$200.00
	Moscow Sofa - Ivory Velvet	3	\$500.00	Т	\$1,500.00

Description		Qtty	Price		Total
TEG	Sofas - Pasadena - Ivory Velvet for the bedeken	1	\$500.00	Т	\$500.00
	Pasadena Club Chair - Ivory Velvet for the bedeken	2	\$250.00	Т	\$500.00
	Panels - Art Deco Laser Cut Out - Taupe for the bedeken; with taupe fabric behind	3	\$575.00	Т	\$1,725.00
F	Dining Chairs - Siena Whitewash Wood	16	\$25.00	Т	\$400.00
	Cabana Frame 10' x 10' with Fabric Off White Gauze pullbacks and off white linen ceiling	1	\$2,600.00	Т	\$2,600.00
	Moscow Club Chair - Ivory Velvet	6	\$250.00	Т	\$1,500.00
	Montreal Coffee Table - Gold Leaf Rectangular	3	\$250.00	Т	\$750.00
	Ottoman Pod 18"D	6	\$50.00	Т	\$300.00
	Accent Table - Madrid Fuji Marble Top	3	\$100.00	Т	\$300.00
		Total July 2nd - Cocktails Lawn		ıwn	\$15,095.00
July 3rd - Recept	tion Ballroom				
	Custom Stage Front 24'L x 24"H price approx and subject to change	1	\$2,565.00	Т	\$2,565.00
	Boston Complete Half Round Bar 12'D - TBD Color covered with wall paoer	1	\$1,850.00	Т	\$1,850.00
	Straight Barback 8'L- Ivory	4	\$275.00	Т	\$1,100.00
	Bali Round Dining Table - Wood Cane Back	8	\$550.00	Т	\$4,400.00

Description		Qtty	Price		Total
T	Florence Dining Table - Round Wood 72"	6	\$450.00	T	\$2,700.00
	Siena Dining Table BASES - Rectangular	4	\$250.00	T	\$1,000.00
	NEW Rectangle Top 8' x 48" - Painted Concrete	4	\$650.00	Т	\$2,600.00
	Bali Rectangular Dining Table - Cane Back to create (4) 16'L dining tables	8	\$550.00	Т	\$4,400.00
	Bali Square Dining Table - Wood Cane Back	4	\$550.00	T	\$2,200.00
	Pasadena Straight Banquette - Ivory 6'L	8	\$350.00	T	\$2,800.00
	Dining Chairs - Barcelona Blush Boucle	100	\$27.00	Т	\$2,700.00
N.	Dining Chairs - Toronto White Boucle	100	\$27.00	Т	\$2,700.00
71					
71		Total July 3rd -	Reception Ballro	om	\$31,015.00
Services		Total July 3rd -	Reception Ballro	oom	\$31,015.00
Services	Installers: Install Day 1	Total July 3rd -	Reception Ballro	oom	\$31,015.00 \$5,400.00
Services	Installers: Install Day 1 Installers: Strike Day 1	•		oom	\$5,400.00
Services	<u> </u>	12	\$450.00	oom	\$5,400.00 \$2,800.00
Services	Installers: Strike Day 1	12	\$450.00 \$350.00	oom	\$5,400.00 \$2,800.00 \$5,400.00
Services	Installers: Strike Day 1 Installers: Install Day 2	12 8 12	\$450.00 \$350.00 \$450.00	oom	\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2	12 8 12 8	\$450.00 \$350.00 \$450.00 \$350.00	oom T	\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00 \$5,400.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2 Installers Strike Day 3	12 8 12 8 12	\$450.00 \$350.00 \$450.00 \$350.00 \$450.00		\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00 \$5,400.00 \$2,700.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2 Installers Strike Day 3 Trucking: 24'L	12 8 12 8 12 6	\$450.00 \$350.00 \$450.00 \$350.00 \$450.00	Т	\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00 \$5,400.00 \$2,700.00 \$390.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2 Installers Strike Day 3 Trucking: 24'L Trucking: Fuel Surcharge	12 8 12 8 12 6 6	\$450.00 \$350.00 \$450.00 \$350.00 \$450.00 \$450.00	Т	\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00 \$5,400.00 \$2,700.00 \$390.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2 Installers Strike Day 3 Trucking: 24'L Trucking: Fuel Surcharge Supplies: Misc	12 8 12 8 12 6 6	\$450.00 \$350.00 \$450.00 \$350.00 \$450.00 \$450.00 \$65.00	Т	\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00 \$5,400.00 \$390.00 \$500.00 \$1,250.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2 Installers Strike Day 3 Trucking: 24'L Trucking: Fuel Surcharge Supplies: Misc Manager: Onsite for (2) Days	12 8 12 8 12 6 6 1	\$450.00 \$350.00 \$450.00 \$350.00 \$450.00 \$450.00 \$65.00 \$500.00 \$1,250.00	Т	\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00 \$5,400.00 \$2,700.00 \$500.00 \$1,250.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2 Installers Strike Day 3 Trucking: 24'L Trucking: Fuel Surcharge Supplies: Misc Manager: Onsite for (2) Days Presentation Fees: Delivery and Pick up	12 8 12 8 12 6 6 1 1	\$450.00 \$350.00 \$450.00 \$350.00 \$450.00 \$450.00 \$65.00 \$500.00 \$750.00	Т	\$5,400.00 \$2,800.00 \$5,400.00 \$2,800.00 \$5,400.00 \$390.00 \$500.00 \$1,250.00 \$1,900.00
Services	Installers: Strike Day 1 Installers: Install Day 2 Installers: Strike Day 2 Installers Strike Day 3 Trucking: 24'L Trucking: Fuel Surcharge Supplies: Misc Manager: Onsite for (2) Days Presentation Fees: Delivery and Pick up Design: Hand Painting Details Accommodations: Crew Hotel Rooms (2) Nights	12 8 12 8 12 6 6 1 1 1	\$450.00 \$350.00 \$450.00 \$350.00 \$450.00 \$450.00 \$65.00 \$500.00 \$750.00 \$1,250.00	Т	

Description		Qtty	Price	Total
	Accommodations: Manager Perdiem for (2) Days	1	\$148.00	\$148.00
Plaasa maka sh	ocke pavable to Povelry Inc		Total Products:	\$54,110.00
Please make checks payable to Revelry, Inc.		Total L	bor/Services/Misc:	\$34,710.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		iolai La	Taxes :	\$5,434.00
			Discounts:	(\$0.00)
Notes			Total:	\$94,254.00
			Payments:	(\$0.00)
			Balance:	\$94,254.00